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QUESTION 1

Scenario: A Citrix Engineer needs to create a ShareFile mobile application default security policy that includes the
following requirements:

-PIN to access ShareFile content
-Set files to automatically be removed after 30 days

-Allow external applications to open downloaded files outside of the ShareFile application

Enable offline access to files

The engineer has NOT integrated ShareFile with the App Controller.
Which device security mode should the engineer set as the default security setting?
A.

Offline

B.

Secure

C.

Custom

D.

Standard

Correct Answer: C

QUESTION 2
In which way does implementing Worx PIN improve the user experience while maintaining Enterprise security?
A. It streamlines the user experience when the Active Directory password is changed.

B. It allows the user to use a unique, synchronized PIN for device and application access without modifying corporate
password policy.

C. It reduces the number of times the user has to authenticate to launch managed applications.
D. It reduces the complexity of daily password entry without modifying corporate password policy.

Correct Answer: D

Latest 1Y0-371 Dumps | 1Y0-371 PDF Dumps | 1Y0-371 Braindumps 2/3


https://www.geekcert.com/1y0-371.html
https://www.geekcert.com/1y0-371.html
https://www.geekcert.com/1y0-371.html

VCE & PDF https://www.geekcert.com/1y0-371.html
2024 Latest geekcert 1Y0-371 PDF and VCE dumps Download

GeekCert.com

QUESTION 3

A Citrix Engineer deployed XenMobile Mail Manager in a Proof of Concept (POC) environment; however, the connection
test fails.

What are two possible causes for this connection test failure? (Choose two.)

A. There are no ActiveSync devices in the environment.

B. The service account used lacks the correct permissions.

C. The limit on maximum number of supported ActiveSync devices has been reached.
D. The environment has unsupported ActiveSync devices.

Correct Answer: AB

QUESTION 4

What are two valid reasons for deploying a XenMobile Server in the Demilitarized Zone (DMZ)? (Choose two.)

A. A XenMobile Server is a hardened, FIPS-capable Linux appliance.

B. A XenMobile Server deployed in the DMZ reduces the number of external firewall rules that need to be implemented.

C. A XenMobile Server deployed in the DMZ reduces the risk of connectivity issues between the NetScaler and the
XenMobile Server.

D. A XenMobile Server deployed in the DMZ can serve as a Secure Ticket Authority (STA) for WorxMail.

Correct Answer: AC

QUESTION 5

A Citrix Engineer needs to allow any iOS device to run a published MDX application. Which type of provisioning file
should the engineer use to wrap the application?

A. App Store (Developer Account)

B. Ad-Hoc (Developer Account)

C. iOS App Development

D. In-House Profile (Enterprise Account)

Correct Answer: D
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